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Homework 
 

1 
40   October  28, 

2004 A 

Find the x-coordinates of the points at which the function  f  is  

discontinuous Where ݂ሺݔሻ = ଷݔ − ଶݔ8 − ݔ5 + 6 

Classify the type of  discontinuity of  f  as removable , jump , or infinite 

2 
29  Feb. 24 ,2000 

Find the x-coordinates of the points at which the function  f  is  

discontinuous Where ݂ሺݔሻ = ଷݔ − ଶݔ1 + ݔ2 − 3 

Classify the type of  discontinuity of  f  as removable , jump , or infinite 

3 
42   March 29, 

2006 

Find and classify the points of  discontinuity, if any for the function 

݂ሺݔሻ = ሺ2ݔ + 3ሻሺݔଶ − 4ሻ2ݔଶ + ݔ3 − 2  

4 
29    June 4. 2007 

Find the ݔ − coordinates of the point at which the function ݂ is  

discontinuous, where ݂ሺݔሻ = ଶݔ − ଶݔሺ|ݔ|ݔ − 1ሻ 

Classify the types of discontinuity of  ݂  as removable, jump or infinite. 

5 
47   November  

10.2007 A 
Classify the discontinuities of    ݂ሺݔሻ = ଶݔ − |ݔ2 ݔ |ሺݔଶ − ݔ − 2ሻ 

as removable , jump , or infinite 

6 
24   August  3, 

2002 

Classify the point of discontinuity of   ݂ሺݔሻ = ଶݔሺݔ − 1ሻ|ݔ|ሺݔଶ + ݔ − 2ሻ 

as removable , jump , or infinite 

7 
43    June 28, 

2008 

Let ݂ሺݔሻ = ሺݔଶ − ݔ2 + 1ሻ| ݔ |ሺݔଶ − 1ሻݔ  

Find all points of  discontinuities of   f   and  Classify each discontinuity as  
removable , jump , or infinite  
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(13)   2.5   discontinuous function  (A)                                                      P10 

  HOSSAM   GHANEM                     65168855حسام غانم                           

 

10 
44   November 9, 

2006 

Find the x-coordinates of the points at which the function  f  is  

discontinuous Where ݂ሺݔሻ = ଷݔ + ଶݔ8 − ݔ − 6 

Classify the type of  discontinuity of  f  as removable , jump , or infinite 
Solution ݂ሺݔሻ = ଷݔ + ଶݔ8 − ݔ − 6 =  ሺݔ + 2ሻሺݔଶ − ݔ2 + 4ሻሺݔ + 2ሻሺݔ − 3ሻ   ∴   ݂  is   discont.        at  ݔ = ݔ    &     2−  = 3 at   ݔ =  −2 ݂ሺ−2ሻ               ܰ. lim௫→ିଶ ܦ ݂ሺݔሻ = lim௫→ିଶ  ሺݔ + 2ሻሺݔଶ − ݔ2 + 4ሻሺݔ + 2ሻሺݔ − 3ሻ = lim௫→ିଶ  ݔଶ − ݔ2 + ݔ4 − 3  =  4 + 4 + 4−2 − 3  =  − 125  ∴   ݂  has  removable  discont.     at  ݔ =  −2 at  ݔ = 3 ݂ሺ3ሻ                 ܰ. ሻݔlim௫→ଷష  ݂ሺ    ܦ =  lim௫→ଷష ଶݔ   − ݔ2 + ݔ4 − 3 =  −∞    lim௫→ଷశ ݂ሺݔሻ =  lim௫→ଷశ ଶݔ  − ݔ2 + ݔ4 − 3 = ∞ ∴   ݂  has  inϐinite  discont.     ܽݔ  ݐ =  3 
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41   March 30, 

2005 
Classify the discontinuities of   ݂ሺݔሻ = ۔ۖەۖ

ଶݔۓ + ݔ3 + ݔ2 + 2 If ݔ < ݔ0 + ଶݔ1 − 1 If ݔ ≥ 0 

as removable , jump , or infinite 
Solution at  ݔ = −2   

                ݂ሺ−2ሻ       ܰ. lim௫→ିଶ ܦ ݂ሺݔሻ = lim௫→ିଶ ݔଶ + ݔ3 + ݔ2 + 2 = lim௫→ିଶ ሺݔ + 2ሻሺݔ + 1ሻݔ + 2  =  lim௫→ିଶ ሺݔ + 1ሻ =  −1 ∴   ݂  has  removable  discont.   at  ݔ = ݔ  ݐܽ 1−  = 0                  ݂ሺ0ሻ =  0 + 10 − 1 =  −1 lim௫→଴ష ݂ሺݔሻ = lim௫→଴ష ଶݔ  + ݔ3 + ݔ2 + 2 = 22 =  1  lim௫→଴శ ݂ሺݔሻ = lim௫→଴శ ݔ  + ଶݔ1 − 1 =  −1  
                 ∴   ݂  has jump discont.    at ݔ = ݔ  ݐܽ               0 = 1 lim௫→ଵష ݂ሺݔሻ = lim௫→ଵష  ሺݔ + 1ሻሺݔ − 1ሻሺݔ + 1ሻ =   lim௫→ଵష  1ሺݔ − 1ሻ  =  −∞ lim௫→ଵశ ݂ሺݔሻ = lim௫→ଵశ  1ሺݔ − 1ሻ =   ∞ ∴ ݂  has  inϐinite  discont.  at  ݔ = 1  


